


R:\Clients\Therma Tru PERMANENT\Florida Product Approvals\FL-15225\Drawings\Current\FL-15225.3.dwg, 2

MASONRY ; T T
OPENING TYP. HEAD
& JAMBS

2X BUCKJ

s

e -1

15.15" MAX.

PRI A A e
Tald, “ .t
["":'~"'.~ AT ";"}\

SINGLE DOOR
BUCK _ANCHORING

NOITES:
1. 2X buck min. S.G. 2 0.55.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 4
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

0.C. (TYP.)

MASONRY
OPENING

2X BUCK

4 »”

EERN PR XM K
Coe e e

I

1

i
T

lk\ MULLION

|  SHOWN FOR
| REFERENCE
[
& JAMBS
I
I
I
1 I
I
= H
i) [
] [
11

MASONRY
OPENING

2X BUCK

18.94” MAX. |
0.c. (Typ.) ™

BRSO R I
R PT S R
R R

SINGLE W/SIDELITE
BUCK ANCHORING

\
N
SK .-
4n 4n Y S\Q.'..
‘ _.] le— 4 S ::. §
o = X:
i P 201 Y«
-t - . o
- u.o Z
1 1 Z e
Y %, 2
| \-MULLION “, x
SHOWN FOR 1 "y,

I
|  REFERENCE
|

N

MULLION
SHOWN FOR
REFERENCE

18.94" MAX. |
o.c. (tvp.)

PP AT L R

A
e
=y

MASONRY .
OPENING

2X BUCK —/

TYP. HEAD
& JAMBS

I
I
I
I
I

I
\-ASTRAGAL

SHOWN FOR
REFERENCE

e k]

18.94" MAX. |
o.c. (tvp.) ™

DOUBLE DOOR

W - i ) -
arcoN® | 174 1-1/4 2 4
ELCO - ] . i}
uttRACoN®] 174 1-1/4 ! 4

BUCK ANCHORING

SINGLE W/SIDELITES
BUCK ANCHORING

4" "
4
‘%J; i
H—t [ R .
I
ﬁ I
MULLION I ':
SHOWN FOR I MULLION J/ 4
REFERENCE ||  SHOWN FOR-I
|  REFERENCE ||
I H
I | 4l
H .
ii ||
I\ ASTRAGAL I :
| “SHOWN FOR I 4 >
REFERENCE [ o
I
H
[
14

e ]

DOUBLE W/SIDELITES

MASONRY BUCK

ANCHORING

OPENING

o.c. (Tvp.) ™

4
7
% :
”~ ]
.. -> m
.. :nn
86 4z "
§=<- el
&Sy 2
™Y -
Q’-OE& g
o o O
'@Q%t‘”"’
'Q\l—-—'ﬂ“
\\ 4 00w
N
\) [7]
S Zgowoo
g oMz
ON':'
o o x2<
859 d554
Nm 5C¢
e "2 Boal
8w,
c [¢]
QCZ §
5
8§ 5u E?%
x
S 2
S =Z
ES | S
R 5;5
<< =
=3 |o 2
ro |2
e |4 x
T |49 S
o |2 S
{_}‘ Lo 'ZCD
= o
'.._
& %
a. [a
210>
Yl
&
[
L
ﬁ.
o
N
|t
|2
e
)
Sl
n [‘Jx_“
o
i2
S
Q.
3
n
"
N
N
N
~lo
e
oatE: 2/21/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:

FL—-15225.3-68

SHEET 2 OF 6

© 2012 R.W. BUILDING CONSBULTANTS ING.



AR
- 0
B © s "
nDu nEn EéJ :% 8 CLQ nCu nDn uAn é-z d ~
§ D/ o lN an zsn. - 2
29 " et e 3" PA‘RS " :2 .8 g "
C 7 I TYP. 5, = 6 5 58
= —~ =3 TYP. | |3 s 18 | 3.1
e =) 1T = ©
— T[T 1 \ NATiE l E o 8%, :
17 ur oor ST T -4 R T 1T gk esds
BT o < T . = w/2x BUCK | 45 fEa Za,°
mutLion— Il Sns <0 MULLION 9 INSTALLATION ~[E89 35 5 &
SHOWN FOR i | A gm ISR I I P 8(3 1 SHOWN FOR _ it & 8 . 1 W/1X BUCK — g e "2 RoED
REFERENCE r FES. SF T REFERENCE <. T ||~ (O NeTaLATON oo |2
. - - . ®
Xq NE M N7 X (A)W/2X BUCK INSTALLATION M ¢ |l TYP. HEAD & zo|E§2 E
(A)W/2X BUCK INSTALLATION =z % =& @ = JAMBS <. |3 2u @
- (@) N (@) - - N— . o — - ©O a0
e L1 56 o N/1X BUCK INSTALLATION 1 50 " M
(9)W/1X BUCK INSTALLATION N 58 X3 TYP. HEAD & JAMBS X3 B Y &
TYP. HEAD & JAMBS { N
—_ —_— 7?‘ o o —_ —_ . — - < go\
Q 2 t . o &)
see ||| F = 0 = S 2
(16) (16) DETAIL "4" ||| & (19) (6) 0 (9 see |15 28 | &
Q 24 2 O_ —_ xI
_ — |l Gs PN _ _ . _ |l oeTaiL "7 S o | S
14 i1 + 1 SEE + a 1=
(12) i (5 Il o= (12) i (5) DETAIL "2"] nZ 2 |3 2
i (12) i i b | EQ |3 W
- £l » i EB HE ol =
Z - . - - . Fo 19 8
( S
ol = . - — |-l - 8 [}
- — ” » T I;*T—_ -—-.: ” ” ” ” O E
nC ” "D ” E nC ” D n/A » B A g &
L=
VIEW "c"-"C” SINGLE DOOR W/SIDELITES VIEW "E"-"E" VIEW _"D"-"D” SINGLE DOOR W/SIDELITE VIEW "B"-"B" SINGLE DOOR VIEW "A"-"A" —|®
SHOWN W/ OPTIONAL CORRUGATED 8
FASTENERS, (TEM #30 (TYP. ALL — L
SIDELITE TO DOOR JAMB CONNECTIONS) W/2)( BUCK -~
o
SIDELITE NOTES: INSTALLATION Q .
1. The sidelite is direct set into the jamb with (12) #8 x 2" pfh. wood screws. There are (4) at each W - sl =2
vertical jamb, from the top down at 13.5", 31", 48.5" & 66". There are (2} at the header at 4" from !Né }XLSX#ION 1; S
the outside corners of the frame. There are (2) at the sill, 4" from the outside corners. £ ;5_;.
2. For optional sidelite construction with staples, sidelite is direct set into the jamb with (4) 74" X o o
1-%," 16 ga. staples along each jamb (6" from ends and equally spaced thereafter). | o
-
<<
CONCRETE ANCHOR NOTES: nen g
1. Concrete anchor locations at the corners may be adjusted to maintain the min. DETAIL 6 >
edge distance to mortar joints. 0
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to W/2X BUCK gg
maintain the min. edge distance to mortar joints, additional concrete anchors INSTALLATION N
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. i
3. Concrete anchor table: W/1X BUCK -2
scAe:  N.T.S.
DWG. BY: JK
I™w "
® 1/4" 1-1/4" 2" 4 cHk. Bv:  LFS
TAPCON / DETA”.. ”1 ” DRAWING NO.:
ITw " " LAk 1 _ _
TAPCON® | 3/1¢" 1-1/4° 3 1-1/2 FL-15225.3-68
SHEET _3 ofF 6

R:\Clients\Therma Tru PERMANENT\Florida Product Approvals\FL-15225\Drawings\Current\FL-15225.3.dwg, 3

© 2012 R.W. BUILDING CONSULTANTS INC.



R\Clients\Therma Tru PERMANENT\Florida Product Approvals\FL-15225\Drawings\Current\FL-15225.3.dwg, 4

”E” g?':(o {\
— N _ &38R
o o 7 PARS 30) S8 o
‘ 5 A 37 TYP.
® 5 & I % ‘ e " M
N [Pl ; = 4
- TR 51 1 [ 1 NLQ [ T[T 1 ;\yj
f See NoTE 3 W/2X BUCK T
SHEET 3 || “SEE DETAIL "3” lNéTALLATION 20 ——f_e
- I / W/1X BUCK SH 1] o
; (DNETALATION g5 5|7 22
_/ TYP. HEAD N7 I
ASTRAGAL— | MULLION & JAMBS s
= SHOWN FOR || SHOWN FOR _
REFERENCE || REFERENCE S
ONLY | i (i
|- I - SEE N~ ~
- I DETAIL "4" _ CL“O.
¢ | @9 D I @® e s
(@] - = =
2E (5) n (9 g 34
¢ | @ K ) ~ g
we ] ! | & | e
" SHE
"C" uEu :;;I-
VIEW_"c"-"c” DOUBLE_DOOR_W/SIDELITES VIEW "E"—"E"
SHOWN W/ OPTIONAL CORRUGATED
FASTENERS, ITEM #30 (TYP. ALL
SIDELITE TO DOOR JAMB CONNECTIONS)
W/2X BUCK
INSTALLATION
W/1X BUCK
INSTALLATION
item DESCRIPTION Material
A |#10 x 2—1/2° PFH WOOD SCREW STEEL
B |#10 X 1-3/4" PFH WOOD SCREW STEEL
Cc |#10 X 17 PFH WOOD SCREW STEEL
1 |#10 x 3/4" LG. PFH WOOD SCREW (Hinge to Frame) STEEL
2 |#10 _x 2" LG. PFH WOOD SCREW STEEL
3 [#8 x 2—1/2” LG. PFH WOOD SCREW STEEL
4 |1/4” x 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
5 [1/4” x 1—-3/4" ITW PFH _CONCRETE SCREW STEEL
9 |1/4” x 3-3/4" [TW PFH CONCRETE SCREW STEEL
11 |3/16" x 3—1/4" [TW_PFH_CONCRETE SCREW STEEL
12 [1/4” x 3—1/4" ITW_PFH_CONCRETE_SCREW STEEL
13 |[MASONRY — 3000 PS| MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
16 |1/4” X 2—1/4" PFH_ITW_CONCRETE_SCREW STEEL
20 |HEADER JAMB (SUGAR PINE, SG >= 0.34) WOOD
21 |3/4” THK. PRESSURE TREATED SIDELITE PAD WOOD
30 [1/2” X 1" X 25 GA. CORRUGATED FASTENER STEEL

\\\\\\\uull ,,,,
O ‘7,
\\\& .....uooco.. / /,, o
- TN e 5
- 0 o2 B
3:: 3" EI:: g * %‘: -é—z(j 2[\
%4”_..{ i — |6 :g:. S 2o
— ___{.:’ o.n. 2 E’;’Q:’j’-’ 8‘0!
l NN [ ] AL SOSEean
- - : %, 2 P SEERY
| EH Rt s X AR
3" |INSTALLATION 4 nafle . o gs
- | W/1X BUCK('3) o Do O QB E, 2829
ASTRAGAL— | INSTALLATION 56 gnef A F IR 2y
SHOWN FOR ITYP. HEAD & ~o £ & NIEaZ 5 0.2&]
—  REFERENCE I JAMBS 1 : \ PR
a8 c 0
ﬁ e () T 5
- I W% N § 2a
I see A P
I DETAIL ;
” » l
(9 I (9 1 AN %!
G u G) o~ | 9%
- I o 28 | B&
—_— " — . < 5 >
=3 |a@ <O
[ — £ |9 32
"/A" . % < ém
3] & T
DOUBLE DOOR VIEW "A"—"A" § e
x <
a o
w
Sl
(@]
&
K
&
~ n
W/2X BUCK B
INSTALLATION o B
x| @
L2 i:
o w/1x Buck (11) of |
ETAIL 1 INSTALLATION L
<<
g
o}
DETAIL "3” 0
ATTACH ASTRAGAL THROW BOLT N
STRIKE PLATE TO FRAME 3|<
AS” SHOWN. NE
gE
oaTE: 2/21/12
scae:  N.T.S.
DWG. BY: JK
DETAIL "4” CHK. BY: LFS
DRAWING NO.:
FL—15225.3-68
SHEET _4 oF _6

©zo12 R.W. BUILDING CONSULTANTS INC,



TON BANVLTINSNDO 9NIQTING MY 202 @)

T186 ON V'O 3484 SNOISIATY

[s 0]
L616°659°CLE "ON euoud SNOILOIS SSOdT A8 313 _JON]| o ©
. I o
S6SEE 14 “OUIDA ‘0£Z x08 "O'd \Su TWOULY3A & VINOZIHOH S41] 064 (¥102) "d3 HIS OL 31vadn| §1/50/Z | L || (X Q] = r_
SN FANVLINSNOD ONIGTINg Mm. TATANISSY 90 Lavd = m .0l
[}
NN
80%¥CH 'ON ‘I'd H00a SSv19438ld ~N £lxle 0 _
IPIWYDSS *4 uopukq NY1L—YWHIHL wld ey W l_._ &
7Ag pespdeid sjuswnooq :10NJodd HEIHE Y
m:lhkm <~z
‘dAL 'GW3
‘NIW.,ST'L
"gW4 24
NIW.SL'L Q
N, . JOVAS WIHS L
b KYW.ST X
, ] Q¥
R m =22
5 | IR 35
S e
- al2?
<\ J'$ z
Tk s¥
‘ in9? .w
4 m Q M qu
: ~ ST 1~ 25
: 2 Z . @
P L 5% =g =
o in i <
— 5 8 waradd, (AN
(@] o a
) T Qo _
m = = 2
e < * ~03
> - =5
) 282
(a% o 23
o) e Wos
o’ o
LLt Lt
= —
g 5 (o}
"aw3
‘NIW.GL'L
| 3DOVdS WIHS
XYW .SC0 w
. NSO 2
‘NIW.SL1°0 LLJ
> - ><
= 7 (NN}
()
» m ﬂmuan
\ <=2
X al8o
N N Q Ped
T : 328
x(Cc
(%4
A L o
Z : @) m < Q
oz i <X
= > 2 Sz @
Z - SE >3
] |7 Rd 3
T Za a
= &8¢
H y —r 2
} s <R
R ,...,QM >|e8
. dAL'gwd <o
NIW.ST'L o) EERSENEAN AU
FOVdS WIHS R
| XYW.ST &
L
) . =95
—|aG
- Qla?
..... » =
=52
- x|e<
| .
o
/ _W_RI—
x [
O
= Zz
[an]
>

S BMpre'szZZST-14\MuanD\sbumesq\szzsT-14\sierciddy 1npoid epLoi\ININYINYTd NIL BuLBy\SIUBID\ Y



"ON| BANVLINSNGODG 9NIAQTING "M'NH Z2L02 (@)

€186 ©ON VO 3d84 3
L6L66E0CLE Fon odou] SNOILO3S SSO¥D SROISIASY . 3
. . od WILIIA Ad V0O | o] L[
GBS 14 ‘O0MIDA ‘0£Z X08 ‘0'd § S41] 083 (¥102) 03 HIS ol 3ivadn|si/so/z | + || u|%|2| =
sz:. u<5:mzoo oNIgINg KTBNISSY 90 1avd - M PR
W 17, N N
o u.(:R.Os@..\\\\ 60¥CH ON ‘3I'd 400d SSY1943814 D B | & g O 6*
> ....;..GEO“..... \\\ PIWYSS '4 uopukq NHL-YWNH3HL gl ety £ &
.... s“..xam peJndesd sjuswinoog :10N00dd W w 813 m m_L: s
3¢z
¥z ¢
s \ ('dAL) "gw3
o ~ '
..C "l ,
..Uzmoaw .),0/,
’a// (%4 m
= O - =
o o] & - K
9 5 = e
o e = Q|5
= “ =
> I | QI3
0 P - [ rﬂ.ﬂvv
nOn | A w &
//: ] N < W
| - , W Ll
< U_ Bz
8] w nl5
= | >3
|17}
R s
B :
[a'4
L
2| (dal)-awa
Wl N/ L

INTERIOR

INTERIOR

INTERIOR

"5\ VERTICAL CROSS SECTION
w Outswing configuration

EXTERIOR

7“2\ VERTICAL CROSS SECTION

\U Outswing configuration
EXTERIOR

| ("dAL) "gw3
"\ NIW ¥/ 1-1

('dAL) "awW3
"NIW /-1

EXTERIOR

EXTERIOR

1/

=

[

/" 1"\ VERTICAL CROSS SECTION

\U Inswing configuration

7”4\ VERTICAL CROSS SECTION

w Inswing configuration

("dAL) "awW3
NIW ¥/ 1-1

INTERIOR

INTERIOR

('dAL) “aw3
NIW /L1

9 '6Mp€'SZZST-1\IWRLND\sBUIMEIQ\SZZS T-14\ser0iddy 1NPoid BPLIOI\ININVINYId ML BuBy\SIuaID\Y



